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ALGEBRA 

 
 
 
 QUADRATIC FORMULA 
 
 

  If   AX2 + BX + C = 0    (where A  0) 
 

then    X = 
A

ACBB

2

42 −+−
   or   X = 

A

ACBB

2
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.  

 
These two solutions are also written as    
 

X = 
A

ACBB
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 FACTORING  
 
 

  X2 − Y2  =  (X + Y)(X − Y) 
 

  X3 + Y3  =  (X + Y)(X2 − XY + Y2) 
 

  X3 − Y3  =  (X − Y)(X2 + XY + Y2) 
 

  X4 − Y4  =  (X2 + Y2)(X2 − Y2) 

                 =  (X2 + Y2)(X + Y)(X − Y)   <final answer> 
 
 

EXPONENTS AND RADICALS 
 
 

  A0 = 1   (where A  0)   
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